
www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Bolt

Mounting an G Part on a panel

Mounting G Parts back to back

M4 x 011
Washer

(optional)

M4 Hex Nut

M4 x 08 Lock Washer

Add panel thickness to bolt lengths above
.157” .354” .472”

12mm9mm

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Hex Nut

M4 x 08 Lock Washer

M4 Bolt

O
p

ti
o

n
al

 p
an

el

Installing edgemounts on panels

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Bolt

Mounting an G Part on a panel

Mounting G Parts back to back

M4 x 011
Washer

(optional)

M4 Hex Nut

M4 x 08 Lock Washer

Add panel thickness to bolt lengths above
.157” .354” .472”

12mm9mm

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Hex Nut

M4 x 08 Lock Washer

M4 Bolt

O
p

ti
o

n
al

 p
an

el

G Part

Designed for artwork, photography, etc

www.pizazzsystems.com

edge•mounts
P E R F O R M

A
N

C
E Q

U
A

L I T Y  A N D

GUARANTEED

See our innovative multimount and monomount standoff systems at: www.pizazzsystems.com
Pizazz and monomount are registered trademarks of Pizazz Group Limited. © 2019 

The intellectual property in this drawing  
is the property of Pizazz Group Limited, 
Auckland, New Zealand.  
Copyright © Pizazz Group Limited 2021. 
Unauthorised use prohibited.


